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THEX Sy« TH - FERI - HH50 B PO B B G AT & # i E (A5
T b A B (B2 HLA)
= 1 10, 571, 357
CCTVRRAR
= 1 10, 571, 357
COTVE: &
= 1 10, 571, 357
COTVA A7 418 HDf# 55 0 TP A7 45 18 (BN 25 & 5 2o
) MAT o A-h-REMELRAE REE EUAT
=) 1 2,029, 630 2,029, 630
COTVA A7 418 HDf# 55 0 TP A7 45 18 (BN 25 & 5 2o
) MAT ¢ P-h-REUERRAE AR — LV EU
=) 3 1,774, 789 5, 324, 367
L2-SW #47°D
=) 5 141, 072 705, 360
LO00BASE-XA"47x-% (SFP) Ty M-ty b SRR ST A
bie 10 251, 200 2,512, 000
Pias HLR R
= 1 10, 571, 357
b A R
= 1 7,787,733
CCTVERfi L.
= 1 5, 669, 783
COTVEE & 25 T
= 1 283, 114
CCTVH A7 2L 18 7R 1 CCTVA 724 3% & HDRS 5 T IPh A7
Tl (BRREEE S TN - A—T
— AR
=) 1 55, 792 55, 792
CCTVH A7 2518 7R 1 CCTVA 724 3% & HDR 5 T IPh A7
Tl (BRREEE S TN - A—T
(2& B L) — AR
=) 3 39, 063 117, 189
L2-SWHzf}
=) 1 19, 722 19, 722
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L2-SWak &
=) 1 23,791 23,791
L2-SWak &
Q2HHLKE)
=) 4 16, 655 66, 620
Heh-77 iR T
= 1 1,131, 636
it it LR SM(1. 31 um) J74)y) 8C(4S7-7"
Ay b)
m 500 761 380, 500
R N EL R SM(L.31um) /Ay 8C (47"
Ay b)
m 500 984 492, 000
SRS LR SM(1.31um) /Ay 8C (47"
Ay b)
m 80 984 78,720
Her=7" VR 107-7" DL F
&0 4 35, 386 141, 544
=77 vkl R AR 20000 F
*Fm) 1 16, 246 16, 246
Ser-7" vkl PR BR 20000 F
*Fm) 1 22,626 22, 626
Bl & - B AR L
= 1 2,233, 857
B P LR CVr=7" W (BOOVERAZR V=77 W) 3.l
600V 14mm2 X 3C
m 500 2,065 1, 032, 500
BN CVr=7" W (BOOVERAZR V=77 W) 3.l
600V 14mm2 X 3C
m 500 2,065 1, 032, 500
EAECHR CVr=7" W (BOOVERAZR V=77 W) 3.l
600V 14mm2 X 3C
m 80 2,065 165, 200
B P LR AR TH=7" v catbe—4P
m 10 365. 7 3, 657
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CCTVEEE it % T
= 1 90, 357
CCTVH A7 2518 it 22 A
= 1 17, 493 17, 493
CCTVH A7 251 i 22 A
(2F B L)
= 3 12, 241 36, 723
FEIMZE E A
= 1 11, 658 11, 658
MEdEE R 6 LM A
= 3 8, 161 24, 483
Bl & - B i s 1
= 1 1,930, 819
T R 2 CVr=7" I (BOOVERAZR V=77 W) 3.l
600V 14mm2 X 3C
m 500 683.3 341, 650
ENBLAR CVr=7" I (BOOVERAZR V=77 W) 3.l
600V 14mm2 X 3C
m 500 683.3 341, 650
EAMELAR RS CVr=7" I (BOOVERAZR V=77 W) 3.
600V 14mm2 X 3C
m 80 683.3 54, 664
M P AL AU =F Lo e 8 I F il —
~ v ECX 7C-2V
m 500 1,103 551, 500
ENBLAR R R Y = F L i 8 i Rl —
~ v ECX 7C-2V
m 500 1,103 551, 500
EAECRR R AU =F L i e JE I R i —
~ v ECX 7C-2V
m 80 1,103 88, 240
T R AR 25 YAAMN TH=7" v catBe—4P
m 10 161.5 1,615
YAThAVF7) " V=vay
= 1 2, 046, 049
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YATh V7)) V=vay
= 1 2, 046, 049
YATh V7)) V=vay
= 1 2, 046, 049
T S g 1
= 1 71,901
ik 1.
= 1 71,901
ik (AR
= 1 71,901
B T HE
= 1 7,787,733
BTl E:
= 1 627,073
BTl TE:
= 1 9,993
Htre m
= 1 9,993
FE S T RS B P BEDBT T A 1R
D% -4
= 1 9,993
MR R (B L)
= 1 617, 080
Wi
= 1 8, 414, 806
BTk X=giiv oy
= 1 3, 242, 858
G E
= 1 5,527, 329
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Hl R
= 1 3, 601, 456
Pear s R
= 1 1,925, 873
R 5]
= 1 17, 184, 993
— R
= 1 3, 543, 650
Tk
= 1 31, 300, 000
THE B 2 %8
= 1 3, 130, 000
TG
= 1 34, 430, 000
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